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40cmx 40cm 1/2 11
C01 Co6 ,V01 V05
P g Pw N/(B D
CGB2 GGB2 scy2 g S W% M/QD ( O B)
(N/mm?) | (N/mm?) (N/mm9)| (%) (N/mm~) (%) N/(As <O )
col 46.8 75.2 16-D19 456 | 2.87 | 4-S6.4@40| 892 [ 075 15 -0.26
Cco02 478 1120 12-D19 542 | 215] 4-D6@40 | 729 0.8 15 -0.3
Cco3 59.0 75.2 12-D19 523 | 215 |4-S64@40| 892 | 075 15 -0.3
co4 65.2 95.8 12-D19 542 | 215| 4-D6@40 | 729 0.8 15 -0.32
C05 67.4 104.7 12-D19 722 | 215] 4-S6@30 | 944 | 107 ] 15 -0.3
C06 103.3 108.5 12-D19 710 | 215] 4-D6@30 | 729 | 107 ] 15 -0.27
V01 475 752 |16+8-D19| 456 | 4.31|4-S64@40( 892 | 075 15 | -052 0.7
V02 475 752 |16+4-D19| 523 | 3.59 |4-S64@40( 892 | 075 15 | -052 0.7
V03 60.7 752 |16+4-D19| 523 | 3.59 |4-S64@40( 892 | 0.75]| 15 -04 07
V04 65.7 1085 |16+4-D19| 542 | 359 | 4-D6@30 | 729 | 107 | 15 |-042 0.63
V05 66.3 100.6 12-D19 710 | 215 4-D6@30 | 729 | 107 | 15 |-042 0.68

*1
*2
*3
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CO1 [ CO2 | CO3 [ CO4 | CO5 [ CO6 || Vo1 | V02 | VO3 | V04 | V05
QukN) | 921 | 916 | 933 | 986 [ 1176 1308 991 | 1034 | 1078 | 1255 | 1146
cQsw_(Rp=0) 956 | 911 1085| 1079 | 1290 | 1471] 963 | 963 | 1101 | 1180 [ 1185

/ 104 099 116| 109] 110 112} 097) 093] 102| 094 1.03
(kN) cQsu_(Rp=0.01) 780 | 779 930 | 914 1032 | 1243| 789 | 789 | 942 | 1011 [ 1014
/ 085] 085[ 100] 093] 088] 095] 080] Ov6] 087] 081 0.89

eMy(kN m)f| 582 577 | 595| 612 746( 839 643 | 664 | 692 | 807 | 738
nMy 503 | 476 543 | 567 | 624 | 846] 505| 516| 609 | 617 608
sMy 529 | 515 558 | 621 )| 653 | 850 620 | 621 )| 682 | 714| 676
My 503 | 620 615| 704 | 756 | 852 727 | 723 | 723 | 868 823

(kN m) cMys/eMy 089| 087| 093| 098] 086 1.02| 088| 086| 094 | 083| 088
cMuz/ My 094| 095| 097| 1.04| 092| 101 096| 093] 096 | 092 097
cMys/eMy 1.07| 1.08| 113| 122| 103| 127| 097 096 1.09| 1.00| 1.04
: Myt
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NewRC 0.0lrad. ,
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